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6361 Groundwater Hydrology , HW#3, F
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1) Suppose at time t=0, the head in figure 1 below is raised instantly to a value H above
the ground surface. The hydraulic conductivity is K and the effective porosity is n.
Assume the ground is initially dry and capillary effects are negligible. Assume the parous’
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2)The attached figures are two contour maps (scale 1:25000) of a portion of an unconfined
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clevations vary) of 1000 sq.meters/day. Determine the net change in water storage during
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3) Prepare a groundwater balance for the subdomain ABCD and use it to estimate thehct
volume of water pumped from or recharged into the area over the indicated time interval.
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